205, ((;+ 61/
&4 @=(=4;7?2*;, )+ * +

#$% &
$0* +#'-

$ #
+# /0182

. ( H +:2 6 = *( ( (# Fo<$ (= >
C;+ (49

34 (

-, % --
" %5 % -
%678 "' -19
., 0

6 " ,%8,8%

131. 1 Carbon ST 1 Male 1 Poppet V. 1 NBR DN 2 letters as per
2 AlSI316 2 Female 3 C.UR.P.* 2 Viton 1 v | o6 Table of Threads
8 Carbon ST 3 EPDM
NQ 2 " |10
3 % |13
4 3" |20
5 1 25
6 1%"| 32
7 1%"| 40
A 8% &"$" "'%,6"B 8 2 |s0

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



FEMALE

e

o7 Y'BSP__ 13111111AB 131.12111AB oo
v NPTF __ 131.11111BB_ 131.12111BB
"BSP __ 131.11112AC 131.12112AC
"NPTF  131.11112BC 131.12112BC
7" BSP  131.11112AD 131.12112DC

09 =, "NPTF  131.11112BD 13L.12112BD >20Bar
%"160RB__ 131.11112GF 131.12112GF
"140RB _ 131.11112GH 131.12112GH
%" BSP __ 131.11113AD 131.12113AD
%" NPTF  131.11113BD 131.12113BD
%’ BSP __ 131.11113AE 131.12113AE

1375 'NPTF  13111113BE 131.12113BE -°0B&
"_140RB_ 131.11113GH 131.12113GH
11/16" 120RB 131.11113GK 131.12113GK
%’ BSP  131.11114AE 131.12114AE

15 9% NPTF _ 131.11114BE 131.12114BE 350Bar
11/16°-120RB 131.11114GK 131.12114GK
1"BSP _ 131.11115AF 131.12115AF

17 1"NPTF_ 131.11115BF 131.12115BF 350Bar
15/16°-120RB 131.11115G0O_131.12115GO

o 1¥'BSP_131.11116AG 131.12116AG . o
1%~ NPTF _ 131.11116BG 131.12116BG

a0 1%'BSP_13111117AH 13LI2II7AH oo
1%’ NPTF _ 131.11117BH 131.12117BH

45  2"BSP _ 131.11118AI 131.12118AI 250Bar

/ DN CH1
07 22 48 1620 8550
09 24 6250 19,80 116,50
; 13~ 27 62,50 2450 134,50
= 15 36 7050 27 132
= 0 17 45 8250 30 154
= / 2155 90 36 173
@ 30 70 111 57 215
=S = 45 75 125 73
L or |
07 22 48 28 8550
09 27 6450 32 116,50
13 32 8050 38 134,50
1536 78 42 132
17 45 9250 48 154
21 55 105 55 173
- v 30 65 13250 80 215
45 80 165 100

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



M12x1,5 6L 1311111138 55 12 106,2
o7 M14x1,5 8L 1a1111119c 200 Bar 22 54 16,2 11 104,2
" BSP M. - 131 11112AN 62,5 2 1244
M14xL5 8L 131.11112JC 615 11 1222
M16xL5 100 131.111121D
09 M16xL5 8S  i3liilizkD o0 Bar 80 625 1979 ” 1ona
M18xL5 105 13LI1112KE : ’
M20xL,5 125 13L11112KE
M14xL5 8L 131.11113JC 73 11 1349
M16xL5 100 131.111131D
: M18xL5 ToL 13L11113JE
@ = M22xL.5 15 131.11113JG
13 M26xL5 18L 131.11113)1 350 Bar 36 24,58
= M18xL5 10S 131 11113KE 4 12 1369
o =N M20x1,5 125 131.11113KF
| M22xL.5 145 131.11113KG
Eal] M24x1,5 16S 131.11113KH
=] M18xL5 121 131.11114E
=4 M22xL5 15 131.11114JG 74 12 1395
=0 M26xL5 18L 131.11114J1
15 M30x2 2oL 131.111143) 350 Bar 36 80 27,08 _ 18 1515
M22x15 145 131.11114KG
~§§ M24xL5 165 13L.11114KH 4 2 1395
M30x2 205 131.11114KJ 80 18 1515
M26x15 8L 131111151 82 2 1522
oF M30x2 2oL 1311111517 41 88 1 164.2
M36x2 28L 131.11115JK 81 157,2
M45x2 35 131.11115]M 6 16 1512
e M30x2 205 13liiliskg o0 Bar " o 30 1632
M36x2 255 13LI1115KK 18 ’
M42x2 305 13L.11115KL 6 o1 1552
M52x2 385 13L11115KN 55 20 1532
@D
M12x1,5 6L 131.12111J8 62 12 106,2
o7 M14x1,5 8L 131121110C 200 Bar 27 63 215 11 104,2
" BSP M. * 131.12112AN 775 12 1244
M14xL5 8L 131.12112)C 76,5 11 1222
M16xL5 10L 131.121120D
o 09 M16xL5 8S  i3LioliokD o0 Bar 80 s 33 1 1ons
M18xL5 10S  13L.12112KE ’ ’
M20xL5 125 13L12112KE
M14xL5 8L 131.12113)C 795 11 1349
M16xL5 10L 131.121130D
o M18xL5 T2 13L.12113E
M22xL.5 150 131.12113JG
13 M26xL.5 8L 131.12113)1 350 Bar 41 385
M18xL5 10S  13L.12113KE 80,5 12 136.9
M20xL5 125 13L12113KF
M22xL5 14S  131.12113KG
M24xL5 165 13L.12113KH
M18xL5 121 131.12114JE
M22xL.5 15 131.12114JG 83,1 12 1395
M26xL.5 8L 131.12114J1
15 302 220 131.121143) 350 Bar 41 89.1 42 18 1515
M22x15 14S  131.12114KG
M24xL5 165 131.12114KH 83,1 2 1395
M30x2 205 131.12114KJ 89.1 18 1515
or M26x15 T8L 131121151 92 2 1522
er | M30x2 220 1311211510 o 1 164.2
oA M36x2 28L  13L.12115JK 1572
1 M45x2 35 131121150M oo 46 9 I 16 1512
M30x2 205 131.12115KJ o 1632
M36x2 255 131.12115KK 18 ’
M42x2 305 13L.12115KL 96 1552
M52x2 385 13L.12115KN 55 04 20 1532

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



INTEVA S.A. Reserves the right to make modifications in its products without prior notice

2x1,5 L B 68 25
07 s C 2 = 500Bar 22 = 16,2 =
4x1,5 L 3 C 84,5 34
X1,5 10L 3 D 855 35
09 6x1,5 8S _ 131.11112MD 350Bar 30 76,5 _ 19,79 26
V18x1,5 10S 131.11112ME 77,5 27
M20x1,5 12S  131.11112MF 85,5 35 170,2
M14x1,5 8L 3 3LC 34 182
M16x1,5 oL 3 3LD 97
8x1, 5 2L 3 3LE 183
2x1,5 5L 3. 3LG
13 6x1.5 8L 131.11113LI 350Bar 36 96 24,58 35 _181
8x1,5 0S 131.11113ME 183
0x1,5 2S 131.11113MF 97
@ 2x1,5 4S 131.11113MG 182
41,5 6S__ 131.11113MH
81,5 12l 131.11114LE 97 1855
— 2x1,5 5L 131.11114LG
6x1,5 8L 131.11114LI 96 1835
15 M30x2 2L 131.11114L) 3508ar 36 27,08 35
M24x1.,5 165 131.11114MH
M30x2 20S__ 131.11114MJ o7 1845
x1,5 8L 131.11115L1
Yoo oL < = " 106 35 1992
M36x2 8L 3 5 98 34 90,
M45x2 351 3 5LM 16 00 36 86,
S M30x2 20S 3 5MJ 3508ar ” 06 30 34 98,
M36x2 255 3 5MK__ 09 38 05,
M42x2 30S 3 SML 16 99.
M52x2 385 13 SMN 55 104 40 96.
oF
@D
M12x1,5 6L B 75 25 32,
07 MLicLs oL 2 = 500Bar 27 > 27,5 = )
M14x1,5 8 3 [ 995 34 68,
M16x1,5 100 3 D 1005 35 70,
09 M16x1,5 8S 131.12112MD 350Bar 30 91,5 33 26 52,
M18x1,5 108 131.12112ME 92,5 27 54,
e M20x1,5 125 131.12112MF 100,5 35 170,2
- M14x1,5 8L 3 3LC 1025 34 182
— M16x1,5 oL 3 3LD
M18x1, 5 2L 3 3LE 1035 183
M22x1.5 5L 3. 3LG
] 13 M26x1,5 8L 131.12113L 350Bar i) 1025 455 - 181
i) 4 M18x1,5 0S__ 131.12113ME 183
M20x1,5 2S 131.12113MF
tEa—— M22x1,5 4S 131.12113MG 1035 182
M24x1,5 6S 131.12113MH
o M18x1,5 121 131.12114LE 106,1 1855
M22x1.5 5L 131.12114LG
M26x1.5 8L 131.12114LI 183,5
15 M30x2 220 131.12114L 350Bar 41 1051 * 35
CH M24x1,5 6S__ 131.12114MH 1845
M30x2 0S__ 131.12114MJ '
M26x1,5 18L 131.12115LI
M30x2 2oL  131.12116LJ 115 35 199.2
g M36x2 28L 31.12115LK 14 34 90,
M45x2 35 31.12115LM 46 08 36 86,
> o M30x2 0S 31.12115MJ 350Bar 4 85 34 98,
M36x2 55 31.12115MK 8 38 05,
@1 M42x2 30S 31.12115ML 7 0 99.
M52x2 385 131.12115MN 55 4 96.
@A

INTEVA



-30°C -10°C -40°C

Wide thread
assortment

NBR Seals
Viton, EPDM, Kalrez®
under request

Hardened surface
High performance

Depressurization system
allows to connect under

Non-spill design residual pressure (C.U.R.P)

Enviromental care

, % 6" %% ,"

Working Pressure Rated Flow Max. Residual Pr  essure Spillage
09 "BSP 131.11312AC 350 Bar 45 l/min 300 Bar 0,010 ml
13 2" BSP 131.11313AD 330 Bar 95 I/min 300 Bar 0,010 ml
15 ¥4" BSP 131.11314AE 330 Bar 150 I/min 300 Bar 0,120 ml
17 1" BSP 131.11315AF 330 Bar 200 I/min 250 Bar 0,200 ml
21 1v," BSP 131.11316AG 300 Bar 300 I/min 250 Bar 0,250 ml
30 1" BSP 131.11317AH 280 Bar 400 I/min 200 Bar 0,300 ml

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEV A



# $%< &
$0* - | +100°C +150°C
$ # . -30°C -10°C -40°C

+# 0

6 " ,%8,8%

131. 2 AISI316 1 Male 1 PoppetV. 1 NBR DN 2 letters as per

2 Female 2 Viton 1 v |os Table of Threads
3 EPDM
2 " |10
3 ¥ |13
4 ¥ |20
5 1" |25
6 1%"|32
7 1v%'| 40
8 2 |50

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



DA

CHI
1\

/ DN CH1
07 22 48 16,20 85,50
09 24 6250 19,80 116,50
/ 13 27 62,50 24,50 134,50
= 15 36 70,50 27 132
=1 17 45 82,50 30 154
= ( 21 55 90 36 173
m 30 70 111 57 215
=l = 45 75 125 73
e |
07 22 48 28 85,50
09 27 64,50 32 116,50
13 32 80,50 38 134,50
15 36 78 42 132
17 45 9250 48 154
21 55 105 55 173
4 v 30 65 13250 80 215
45 80 165 100

09

13

15

17

2

[y

30
45

FEMALE
¥"BSP___ 131.21121AB 131.22121AB
Y'NPTF__ 131.21121BB 131.22121BB

"BSP___ 131.21122AC 131.22122AC
"NPTF__ 131.21122BC 131.22122BC
Y% "BSP__ 131.21122AD 131.22122DC
Y% "NPTF__ 131.21122BD 131.22122BD

%"-160RB__ 131.21122GF 131.22122GF
"140RB _ 131.21122GH_131.22122GH
%"BSP___ 131.21123AD 131.22123AD
%" NPTF _ 131.21123BD 131.22123BD
%'BSP___ 131.21123AE 131.22123AE
%' NPTF___ 131.21123BE 131.22123BE
"-140RB _ 131.21123GH_131.22123GH

11/16" 120RB_131.21123GK _131.22123GK
%" BSP___ 131.21124AE 131.22124AE
%" NPTF___ 131.21124BE 131.22124BE

11/16™120RB_131.21124GK _131.22124GK
1"BSP___ 131.21125AF 131.22125AF
1"NPTF__ 131.21125BF 131.22125BF

15/16™-120RB 131.21125GO_131.22125GO
1Y BSP__ 131.21126AG 131.22126AG
1% NPTF__ 131.21126BG _131.22126BG
1%"BSP__ 131.21127AH_131.22127AH
1% NPTF__ 131.21127BH 131.22127BH
2"BSP 131.21128A1  131.22128Al

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

&

350Bar

250Bar

250Bar

250Bar

250Bar

250Bar

250Bar
100Bar

INTEVA



Rated Flow Min Burst Pressure [bar) Max. Working Pressure *

Male Female Coupled
07 181/m 1950 1890 2000 500 bar
09 451/m 1300 1200 1400 350 bar
13 751/m 1300 1200 1400 350 bar
15 150 1/m 1250 1180 1400 350 bar
17 2001/m 1200 1150 1400 350 bar
21 2201/m 1150 1150 1400 350 bar
30 2401/m 1080 1100 1400 350 bar * Safety factor 1:4

Ap (bar) Carbon Steel Models

0 40 80 120 160 200 240 V/m

=11\ AL LIALAD
DN Rated Flow Min Burst Pressure [bar) Max. Working Pressure

Male Female Coupled

07 18 1/m 1450 1400 1400 350 bar
09 45 1/m 1020 1100 1000 250 bar
13 75 1/m 1000 980 1000 250 bar
15 1501/m 950 970 1000 250 bar
17 2001/m 950 940 1000 250 bar
21 2201/m 930 900 1000 250 bar
30 2401/m 930 890 1000 250 bar | Safety factor 1:4
Stainless Steel Models
Ap (bar)

_d
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



, % 6" %%$6 ," TECHNICAL DATA

el Min. Burst Pressure L Wor.kmg
Flow Pressure
" Male Female Coupled
09 3/8"'BSP 131B.12112AC 350 24 33 119 09 45 I/m 350 bar

1300 1200 1400

Designation

DN-09 FLAT FACE FEMALE 3/8“ high pressure
to lift trash containers

Features:

Developed for wuse in working with high
frequency pulsating pressure and water hammer.

Pressure: 350 bar.

Connectable with a residual mean pressure.

Nickel plated outer body chemical, very corrosion
resistant to ensure durability under the most extreme

Ergonomically shaped for easy connection and
disconnection.

Compact flat face that eliminates leaks and
contamination of the circuit.

Manufactured under ISO 16028.

0 10 20 30 40 50 60 70 8 90 100 I/m

|
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEV A



6 " ,%8 ,8%

- (
131. 5 Plastic 3 F.Cap 1 Red DN
4  M.Cap 2 Blue v | o7
3  Yellow
4  Green » | 09
5 Black
6 White v | 13
¥ | 15
1’ 17
1% | 21
1v%" | 30
2" | 45
YELLOW WHITE
07 131.5311AA * * * * *
09 131.5312AA * * * * *
13 131.5313AA * * * * *
15 131.5314AA * * * * *
17 131.5315AA * * * * *
YELLOW WHITE
07 131.5411AA * * * * *
09 131.5412AA * * * * *
13 131.5413AA * * * * *
15  131.5414AA * * * * *
17 131.5415AA * * * * *
Asg = 3

Asg 0?2 2 ( )? %




